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PC: Adding and Subtracting Rational Expressions Ms. Loughran

Do Now:
Perform the indicated operation and simplify.
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Perform the indicated operation(s) and simplify.
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Steps for Adding Rational Expressions
When the denominators are the same When the denominators are not the same
1. Keep the denominator the same. 1. Find The LCD
2. Rewrite as one fraction by combining 2. Rewrite each fraction with that common
like terms denominator
3. Factor. 3. Combine like terms in the numerator and
4. Reduce. rewrite as a single fraction
4. Factor
5. Reduce.

To subtract, just change the subtraction to addition and negate the numerator that
follows. Then you can follow the rules for addition.



Homework 09-26

Perform the indicated operation(s) and simplify.
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